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254EFE | 17,295 12.0| 8,764 -6.6] 1.97 — | 45,952 12.7| 35103 -6.5| 1.31 —
264EFE | 17,1461 -0.9| 8,198 -6.5| 2.09 — | 47,252 2.8| 32,995 -6.0| 1.43 —
274 | 17,071 -0.4| 7,848 -4.3| 2.18 — | 47,190 -0.1| 31,551 -4.4| 1.50 —
284EfE | 18,318 7.3 7,570 -3.5| 2.42 — | 51,044 8.2| 30,004 -4.9 1.70 —
204EFE | 18,7920 2.6 7,274 -3.9] 2.58 — | 53,176 4.2| 29,312 -2.3| 1.81 —
28/1~3| 18,154 21| 7,964 -5.6| 2.28 2.27| 48,869 3.6| 29,645 -4.2| 1.65 1.55
28/4~6| 17,5821 5.5 8,619 -4.5/ 2.04 2.35 48,767 4.7 32,229 -5.4| 1.51 1.62
28/7~9| 18,216. 8.6/ 7,268 -4.2| 2.51 2.45| 49,530 7.6| 30,234 -5.6| 1.64 1.69
28/10~12| 18,073: 8.3| 6,369 -6.5| 2.84 2.50| 52,164 10.3| 28,608 -6.1| 1.82 1.75
29/1~3| 19,4020 6.9/ 8,024 0.7| 2.42 2.42| 53,716  9.9| 28,945 -2.4| 1.86 1.75
29/4~6| 18,1161 3.0/ 8,241 -4.4] 2.20 2.51| 51,758 6.1| 31,613: -1.9| 1.64 1.76
29/7~9| 18,329° 0.6/ 7,153 -1.6| 2.56 2.48] 51,475 3.9 29,675 -1.9/ 1.73 1.79
29/10~12| 18,703: 3.5/ 6,202 -2.6| 3.02 2.62| 53,785 3.1| 28,064 -1.9| 1.92 1.83
30/1~3| 20,020 3.2| 7,500 -6.5| 2.67 2.71] 55,684 3.7| 27,896 -3.6 2.00 1.88
284 F | 18,799 1.2| 10,150 -7.1| 1.85 2. 44| 48,835 2.4| 32,491 -6.2| 1.50 1.59
58| 16,973 8.4 8,141 1.7| 2.08 2.37| 48,646 5.3| 32,3300 -4.9| 1.50 1.63
68| 16,974 7.6 7,566 -7.1| 2.24 2.23| 48,819 6.6| 31,867 -5.0/ 1.53 1.63
7B 17,762 -3.9| 6,758 -13.7| 2.63: 2.36| 47,966 4.1| 30,418 -6.9| 1.58 1.65
8A | 17,701 16.9| 7,377 3.0 2.40: 2.49| 48,915 7.9| 30,152 -5.1| 1.62 1.68
9RB | 19,186 14.8| 7,669 -1.4| 2.50: 2.49| 51,709 10.7| 30,132 -4.7| 1.72 1.73
108 | 19,175 -3.6| 7,295 -11.3| 2.63 2.41| 52,914 10.0| 30,247 -5.7| 1.75 1.73
1A | 17,445 13.6| 6,573 -1.6| 2.65 2.47| 52,212 9.2| 28,980: -6.1| 1.80 1.75
128 | 17,600 18.9| 5,240 -5.3| 3.36 2.62| 51,365 11.7| 26,598 -6.6/ 1.93 1.75
20961 B | 19,878 -0.6| 7,839 1.6 2.54 2. 44| 52,324 10.9| 27,405 -3.8| 1.91 1.76
2B 18,951 8.5 7,884 -3.5| 2.400 2.43| 54,034 9.8| 28,799 -3.5/ 1.88 1.75
3B 19,377 14.0/ 8,348 4.3| 2.32 2.39] 54,790 9.1| 30,630 0.1| 1.79 1.73
29964 B | 18,127 -3.6| 9,592 -5.5 1.89 2. 41| 52,439 7.4/ 31,953 -1.7| 1.64 1.74
58| 17,487 3.0/ 7,846 -3.6| 2.23 2.54| 51,537 5.9| 32,0600 -0.8| 1.61 1.73
68| 18,733 10.4| 7,285 -3.7| 2.57 2.57| 51,299 5.1| 30,825 -3.3| 1.66 1.80
78 18,419 3.7 6,687 -1.1] 2.75 2.53| 51,340 7.0| 29,502, -3.0| 1.74 1.81
8A| 17,008 -3.4| 7,471 1.3| 2.29 2.40| 50,868 4.0 29,758 -1.3| 1.71 1.78
9RB | 19,471 1.5/ 7,301 -4.8| 2.67 2.53| 52,218 1.0 29,764 -1.2| 1.75 1.77
10A | 20,155 5.1| 7,180 -1.6| 2.81 2.63| 54,045 2.1| 29,612 -2.1| 1.83 1.82
1A || 17,881 2.5 6,224 -5.3| 2.87 2.65 54,103 3.6| 28,430: -1.9| 1.90 1.82
128 | 18,074 2.7| 5,202 -0.7| 3.47 2.59] 53,206 3.6 26,150: -1.7| 2.03 1.85
301 8| 21,093 6.1| 7,508 -4.2| 2.81 2.76| 54,379: 3.9/ 26,795 -2.2| 2.03 1.87
28 19,305 1.9/ 7,391 -6.3| 2.61 2.67| 55,821 3.3| 27,860 -3.3| 2.00 1.86
3B 19,662 1.5/ 7,600 -9.0| 2.59° 2.72| 56,853 3.8| 29,032 -5.2| 1.96 1.92

1 HEBRUBRIEHRFZEEEZRES/INA— 2 A LEED,

2 FE. OFHOREIATEHNTHS,




15 H #h i3 BEEBRRBE
=} T | ERRRZHRE =SERNE # i | 2
wareE | E ST 4E SRT4E RETE | MR SBIE  HERL
R BIHE | 00 e e jei e
3: (%) (%) (%) (%) | (%) (%) | (%)
25FE 3,290 0.5| 37.5 185 -3.6/ 545 2.0] 1,826. -4.6: 20.8| 8,326. -5.2 23.7
265 E 3,07/6: -6.5| 37.5 129 -7.21 541 -0.7] 1,711 =3.1: 21.6| 7,971 -4.3: 24.2
21 E 2,956: -3.9| 37.7 720: -1.1| 533 -1.5] 1,715 =-3.1: 21.9| 7,693: -3.5: 24.4
28F[E 2,829 -4.3| 37.4 1270 0.9| 549 2.91 1,744 1.7 23.01 7,544 -1.9 25.1
29 2,709: -4.2| 37.2 114: -1.7| 5bh] 1.5 1,769 1.4 24.3] 1,683 1.8 26.2
28/1~3 | 2,935 -2.7| 36.8 680: -0.5| 550 -3.9] 1,766 -1.2: 22.2| 17,203 -2.6: 24.3
28/4~61] 3,082 -5.8| 35.8 182: 4.5 578 1.5 2,1300 -1.0. 24.7| 8,379: -3.1. 26.0
28/7~9 | 2,698 -5.6| 37.1 726 -3.5| 509 -2.1| 1,554: 3.1: 21. 4] 7,444: -2.9 24.6
28/10~12| 2,661 -3.5| 41.8 687 -2.01 513 4.0| 1,440 0.3: 22.6| 7,111 -2.0: 24.9
29/1~3| 2,876, -2.0| 35.8 712: 4.6/ 595 8.2| 1,8b1 4.8 23.1| 7,242 0.5 25.0
29/4~61| 2,957 -4.1| 35.9 7169 -1.6/ 579 0.2 2,122 -0.4: 25.8| 8,48] 1.3: 26.8
29/7~9 | 2,607 -3.3] 36.5 7143 2.2| 528 3.7 1,618 4.1: 22.6| 17,622. 2.4 25.7
29/10~12| 2,5100 -5.7| 40.5 6/9: -1.2| 511 -0.5] 1,485 3.1: 23.9| 17,281 2.4 259
30/1~3] 2,763 -3.9| 36.8 66/ -6.3] 609 2.5] 1,850 -0.1: 24.7| 1,342 1.4: 26.3
285 4 A 3,189: -7.3| 31.4 125 -5.2| 625 6.8 2,971: -0.1 29.3| 8,570 -2.5 26.4
5 A 2,975 -0.9] 36.5 7169: 12.6| bHbi 2.2 1,782 -1.2¢ 21.9| 8,389 -3.4: 25.9
6 A 3,083: -8.5| 40.7 851 1.0 559 -4.6] 1,638 -2.4 21.6/ 8,179: -3.3 25.7
7 A 2,726: -9.5| 40.3 740 -7.8| 468 -16.6] 1,446 -8.0: 21.4| 7,514 -5.8 24.]
8 A 2,564 -2.4| 34.8 6/8 1.0 507 1.4 1,623: 16.4 22.0| 7,448 -2.0 24.7
9 H 2,803: -4.5| 36.5 7161 -2.8] 553 4.7 1,593 2.3 20.8| 7,369 -0.7: 24.5
10R 2,878 -6.7] 39.5 725:-10.8| 525 -8.4] 1,706. -5.8: 23.4| 7,468 -2.0 24.]
11R 2,726: -0.3| 41.5 736: 8.9 544 12.6] 1,412 5.5 21.5] T7,167: -1.8: 24.7
12A 2,3800 -3.2| 45.4 599: -2.3| 470 10.8] 1,202. 3.9 22.9] 6,698 -2.3 25.2
294 1 A 2,284 -4.1| 29.1 590: 0.7/ 463 14.6] 1,846 6.7: 23.5| 6,9200 0.2 25.3
2 A 2,732. -8.0| 34.7 6/2. -1.9] 564 -2.1| 1,792 1.6: 22.71 17,218 -0.7 25.1
3 H 3,611 4.6] 43.3 873: 13.4| 157 13.2] 1,915 6.2 22.9| 7,588 2.1: 24.8
294 4 A 2,947 -7.6| 30.7 692: -4.6/ 588 -5.9] 2,890 -2.7: 30.1| 8,600 0.4: 26.9
5 A 2,924 -1.7| 31.3 780: 1.4 548 -0.5] 1,858 4.3: 23.7| 8,633 2.9 26.9
6 A 3,000 -2.7| 41.2 836: -1.8| 602 1.7 1,619: -1.2 22.2| 8,228 0.6: 26.7
7 A 2,519: -7.6| 37.1 6/0 -9.5| 514 9.8] 1,515 4.8 22.7| 1,601 1.2: 25.8
8 A 2,497 -2.6| 33.4 162 12.4] 490 -3.4| 1,688 4.0 22.6| 17,6100 2.2: 25.6
9 H 2,806 0.1 38.4 7196 4.6/ 580 4.9] 1,652 3.7i 22.6| 17,656 3.9 25.7
10A 2,759 -4.1| 38.4 142 2.3 566 1.8 1,718 4.2 24.8] 7,686 2.9 26.0
11H 2,579° -5.4| 41.4 7103 -4.5| 530 -2.6] 1,452 2.8 23.3| 7,368 2.8 25.9
12R 2,192:  -7.9| 42.1 591 -1.3| 436: -71.2] 1,225 1.9: 23.5| 6,788 1.3 26.0
30&£ 1 A 2,242: -1.8] 29.9 575 -2.5| 456 -1.5] 1,907 3.3: 25.4] 7,074 2.2: 26.4
2 A 2,716 -0.6| 36.7 668: -0.6| 623 10.5| 1,743: -2.7: 23.6| 17,6317 1.4 26.3
3 A 3,332. -7.17| 43.8 758 -13.21 749 -1.1] 1,899 -0.8: 25.0{ 7,635 0.6: 26.3
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